

31,  $\varphi_m \in V, \varphi_n \rightarrow \varphi; \varphi \in \mathcal{D}(A)$

$$A\varphi_m \rightarrow \psi_A \quad A \text{ määrittäjä} \quad \psi_A = A\varphi$$

$$B\varphi_m \rightarrow \psi_B \quad B \text{ määrittäjä}$$

$$U(A\varphi_m) \rightarrow \psi_{AU}$$

lisäjäsen

$$(UA+B)\varphi_m \rightarrow \psi_{AU} + \psi_B$$

$$U\varphi_m = \alpha_m$$

$$U\varphi_m \rightarrow U\varphi$$

$$\alpha_m \rightarrow \alpha$$

$$A\alpha_m \rightarrow \alpha = \psi_{AU} + \psi_B$$

$$A \text{ määrittäjä} \Rightarrow \alpha \in \mathcal{D}(A) \Rightarrow U\varphi_m \in \mathcal{D}(A)$$

Propozice k  $H = \sum -m_j \Delta_j$ :

$$(U(N)\psi)(x) = \lim_{N \rightarrow \infty} \prod_{j=1}^n \left( \frac{m_j}{2\pi i N} \right)^{\frac{3}{2}} \int_{\mathbb{R}^{3n}} \exp\left( \frac{i}{2N} \sum_{j=1}^n m_j |x_j - y_j|^2 \right) \psi(y) f_2(y) dy$$

$$|f_2| \leq 1, f_2 \rightarrow 1$$

pro fixní  $x$  uvažujeme

$$\Psi(y) = \exp\left( -\frac{i}{2N} \sum_{j=1}^n m_j |x_j - y_j|^2 \right) \chi_M(y)$$

$$\chi_M(y) = 0 \quad y \notin M$$

$$= 1 \quad y \in \{x \in M \mid d(x, \partial M) > \varepsilon\}; \quad \varepsilon > 0$$

$$\chi_M \in C_0^\infty(\mathbb{R}^{3n})$$

poté

$$(U(N)\psi)(x) = \prod_{j=1}^n \left( \frac{m_j}{2\pi i N} \right)^{\frac{3}{2}} \int_{\mathbb{R}^{3n}} \chi_M(y) dy$$

$$|(U(N)\psi)(x)|^2 = \prod_{j=1}^n \left( \frac{m_j}{2\pi i N} \right)^3 \left( \int_{\mathbb{R}^{3n}} \chi_M(y) dy \right)^2 > 0 \quad \text{pokud je } M \text{ neprázdná}$$

33)  $V_D$  unitární propagátor, Mkv.

$$V_D(t, \tau) = V_D(t, s) V_D(s, \tau)$$

$$U_0(\tau, t) U(t, \tau) = U_0(s, t) U(t, s) U_0(\tau, s) U(s, \tau) \quad \begin{array}{l} / \cdot U(\tau, s) \\ / \cdot U_0(t, s) \cdot \rightarrow \end{array}$$

$$U_0(\tau, t) U(t, s) = U_0(s, t) U(t, s) U_0(\tau, s)$$

$$U_0(t, s) V_0(\tau, t) U(t, s) = U(t, s) V_0(\tau, s)$$

$$U_0(t, s) U_0(\tau, t) = U_0^{-1}(s, t) U_0^{-1}(t, \tau) = U_0^{-1}(s, \tau) = U_0(\tau, s)$$

$$\Rightarrow U_0(\tau, s) U(t, s) = U(t, s) V_0(\tau, s)$$

2)  $U$  unitární propagátor  $\Leftrightarrow$  a)  $U(t, s) = U(t, \tau) U(\tau, s)$

b)  $s, \tau \rightarrow U(s, \tau)$  silně spojití v  $\mathbb{R}^2$

$$a) U_{\mathcal{L}}(t, s) \stackrel{?}{=} U_{\mathcal{L}}(t, \tau) U_{\mathcal{L}}(\tau, s)$$

$$\stackrel{?}{=} U_0(\tau, t) U(t, \tau) U_0(\tau, s) U_0(s, \tau) U(\tau, s) V_0(s, \tau)$$

$$\stackrel{?}{=} U_0(\tau, t) U(t, \tau) U_0(\tau, s) U(\tau, s) V_0(s, \tau)$$

$$\stackrel{?}{=} U_0(\tau, t) U(t, \tau) U(\tau, s) V_0(s, \tau)$$

$$\stackrel{?}{=} U_0(\tau, t) U(t, s) V_0(s, \tau)$$

$\Downarrow$

$$b) U_{\mathcal{L}}(t, s) = U_{\mathcal{L}}(t, \tau) U_{\mathcal{L}}(\tau, s)$$

$U_{\mathcal{L}}(t, s)$  je složením silně spojitých zobrazení  $\Rightarrow U_{\mathcal{L}}(t, s)$  silně spojití